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1.
Why is it important for financial-services firms to comply with the Occupational Safety and Health Administration's (OSHA) workplace regulations?
A.
To avoid paying penalties 
C.
To prevent on-site inspections 
B.
To monitor work-related accidents
D.
To eliminate all complaints

 2.
Illegally run organizations that emphasize the collection of high fees from potential product distributors are often referred to as
A.
marketing rackets. 
C.
pyramid schemes. 
B.
pressure-cooker tactics. 
D.
deceptive advertising gimmicks.

 3.
All calls coming into an investment firm should end as pleasantly as possible in order to
A.
provide callers with accurate information. 
C.
help you to get a good review. 
B.
make the best use of your time.
D.
leave a good last impression with callers.

 4.
What type of information should a business include when writing a sales proposal to send to a customer?
A.
Shipping and receiving 
C.
Pricing and accounting 
B.
Features and benefits 
D.
Laws and regulations 

 5.
What might result if a financial-services firm fails to maintain positive client relations?
A.
Lowering of goals 
C.
Loss of advertisers  
B.
Reduction in assets 
D.
Decrease in sales

 6.
How do service-oriented companies often improve their levels of service?
A.
By conducting a feasibility analysis for company expansion
B.
By evaluating internal product development procedures
C.
By providing customers with product testimonials
D.
By requesting input through employee and customer surveys

 7.
Which of the following is the best way to handle domineering/superior customers:
A.
Don't jump to quick conclusions. 
B.
Never press for sales or decisions. 
C.
Let them have their say. 
D.
Explain and demonstrate good service as many times as you need to. 

 8.
Why do marketers classify goods and services?
A.
To help in calculating prices 
C.
To aid in marketing planning
B.
To determine promotional budgets
D.
To decide whether to increase production

 9.
What is one factor that will determine how much a customer is willing to pay for a good or service?
A.
Rationing 
C.
Buying power 
B.
Production costs 
D.
Incentive

10.
One major way investment firms, in general, show their social responsibility is by
A.
maximizing their profits. 
C.
meeting consumer needs.  
B.
offering quality products.  
D.
minimizing operating costs.

11.
When sales revenue exceeds the cost of goods sold and operating expenses, the business receives a(n)
A.
income. 
C.
loss. 
B.
profit.
D.
capital.

12.
Wildfires swept through Montana during the summer of 2000 and consumed many homes and businesses. Business owners rebuilt their businesses because they believed that the risk involved with wildfires was "just part of doing business in Montana." Which type of risk did the business owners encounter?
A.
Natural 
C.
Human
B.
Economic 
D.
Incompetence

13.
Who is responsible for providing a quality of work life that fosters productivity?
A.
Customers 
C.
Unions
B.
Businesses
D.
Employees 

14.
An economy with a high unemployment level tends to have
A.
rapid GDP growth.  
C.
fewer monetary policies. 
B.
a high supply of money. 
D.
a lower rate of inflation. 

15.
Why should a businessperson understand business cycles?
A.
To make plans that will level out cycles 
C.
To determine the cause of each cycle
B.
To prevent the cycles from happening 
D.
To predict the exact beginning of cycles

16.
When the United States sells its products to the government of a country in Europe, the United States is engaged in
A.
exporting. 
C.
illegal trade.
B.
importing. 
D.
domestic trade.

17.
The rate of unemployment is an economic factor that may have an impact on a business's
A.
tax structure. 
C.
depreciation level. 
B.
financial condition. 
D.
monetary system. 

18.
What is one factor that determines a credit union manager's credibility with employees?
A.
Reputation 
C.
Patience
B.
Creativity 
D.
Aptitude 

19.
Businesses should view negotiation as a way to
A.
get something done. 
C.
get the action they want. 
B.
build strong relationships. 
D.
keep negative people quiet.

20.
A plaque that a financial-services firm gives an employee for doing an outstanding job is an example of a 
A.
reward. 
C.
compliment. 
B.
recognition. 
D.
benefit. 

21.
What generally happens when an investment firm's employees practice good human relations skills?
A.
Decreased communication 
C.
Reduced loyalty
B.
Increased cooperation 
D.
Improved benefits

22.
The way a financial-services company behaves and treats both its employees and its customers is the organization's
A.
mission. 
C.
strength. 
B.
culture. 
D.
goal. 

23.
To cover the extra cost of offering credit services, businesses often adjust their marketing strategy by charging customers
A.
annual fees. 
C.
higher prices.
B.
finance charges. 
D.
interest rates.

24.
You are more likely to achieve your goals if they are
A.
based on needs only. 
C.
long term. 
B.
written down. 
D.
short term. 

25.
You are considering purchasing a $1,000 bond that matures in 5 years and that has a coupon rate of 8% (paid annually). Your required rate of return is 10%. You already know that the present value of the bond at maturity is $621. To find the present value of the bond's payments, you find a value of 3.791 on a table that shows the present value of an annuity of $1. What is the total value of the bond? 
A.
$317.12 
C.
$924.28 
B.
$303.28 
D.
$825.02 

26.
Two employees used a business's computerized accounting system to change some records. They were able to steal $50,000 from the business because the accounting system lacked which of the following:
A.
A manual system as backup 
C.
Protection from theft and fraud  
B.
An affordable price 
D.
Printed financial statements 

27.
A business's balance sheet lists $6,800 in accounts receivable, $13,590 worth of inventory, a building and equipment valued at $245,750, and a mortgage of $150,000. Calculate the business's assets.
A.
$266,140 
C.
$395,750
B.
$170,390 
D.
$416,140

28.
Businesses usually develop operating budgets for a specific period of time, generally a
A.
month. 
C.
year.
B.
decade. 
D.
week.

29.
An example of an internal change that could affect a business's sales forecast is a change in the
A.
number of competitors in the market. 
C.
length of a national recession.  
B.
size of the sales force. 
D.
levels of consumer spending.

30.
A business's profit-and-loss statement contains the following financial information: Total revenue: $100,000;  Cost of goods sold: $39,000;  Expenses: $48,000.  What is the business's net profit?
A.
$31,000 
C.
$23,000
B.
$12,000 
D.
$13,000 

31.
Purchases that are often exempt from sales tax are those made by
A.
distributors. 
C.
retail businesses.
B.
nonprofit organizations.
D.
wholesalers. 

32.
ABC Canning Company purchased a new, automated canning machine for $80,000. It has a useful life of six years, at the end of which it is expected to sell for $8,000. Using the straight-line depreciation method, what is the total accumulated depreciation at the end of year 3?
A.
$24,000 
C.
$36,000 
B.
$12,000 
D.
$44,000 

33.
Calculate the rate of return on a $2,000 corporate bond that pays 6.5% interest per year if the current market value of the bond is $1,850.
A.
6% 
C.
7% 
B.
6.5% 
D.
7.5% 

34.
Keeping costs low while working to increase sales is an effective way for businesses to 
A.
monitor liquid assets. 
C.
improve profit margins. 
B.
eliminate product shortages. 
D.
develop budget goals. 

35.
Which of the following do young people often buy that will pay them an income in the future:
A.
Escrow accounts 
C.
Real estate 
B.
Deferred annuities 
D.
Stock dividends 

36.
An individual invests $1,500 in a mutual fund that has an average return of 12%. If the return is expected to increase by 2% this year, what will the investment be worth?
A.
$1,710 
C.
$1,750 
B.
$1,680 
D.
$1,640 

37.
Calculate the tax liability of a client who is married but whose spouse does not work based on the following information: had adjusted gross income of $64,720, was entitled to the standard deduction of $7,850 and $3,300 for each exemption, and earned $345 in interest.
A.
$46,970 
C.
$50,270 
B.
$50,615 
D.
$46,625 

38.
Tax rate schedules are not available for which category of taxpayers:
A.
Married 
C.
Engaged 
B.
Single 
D.
Head of Household 

39.
Businesses often use an hourly billing rate when developing a client's account statement to bill the client for 
A.
time charges. 
C.
bond payments. 
B.
interest fees. 
D.
cash advances. 

40.
Corporations cannot employ an asset-management service to manage which of the following:
A.
Information technology hardware 
C.
Investments 
B.
Internal controls 
D.
Inventory 

41.
Adhering to a compliance plan usually involves following various
A.
industry policies and procedures. 
C.
security methods and techniques. 
B.
governmental rules and regulations.  
D.
privacy requirements and laws. 

42.
If corporate executives want to increase a firm's return on investment (ROI) from 18% to 20%, and total asset turnover remains constant at 2, what is the new required profit margin?
A.
8% 
C.
20% 
B.
10% 
D.
2% 

43.
A business evaluating the cost of purchasing certain assets in the hope that these assets will have significantly more value in the future is an example of assessing 
A.
short-term objectives. 
C.
profit-margin requirements. 
B.
cash-flow projections. 
D.
risk-return tradeoffs.  

44.
When troubleshooting a proposed budget, businesses often consider if funds have been allocated for
A.
appraising acquisitions. 
C.
emergency situations. 
B.
depreciation activities. 
D.
identifying investments. 

45.
Calculate a business's future financing needs if it expects $375,000 in income, $296,750 in routine expenses, wants to maintain a cash reserve of $50,000, and plans to purchase a $125,000 piece of equipment.
A.
$50,000 
C.
$96,750 
B.
$78,250 
D.
$28,250 

46.
One reason why many businesses conduct a trend analysis is to compare their financial ratios with 
A.
operating standards. 
C.
industry averages. 
B.
current liabilities. 
D.
variable expenses. 

47.
What do businesses often consider when determining the optimal mix and type of assets?
A.
Basic accounting methods 
C.
Estate planning services 
B.
Long-term financial needs 
D.
Fee-only brokerage firms 

48.
One reason why some individuals decide to invest in certain types of municipal bonds is because the interest on those bonds is
A.
tax exempt. 
C.
paid quarterly. 
B.
extremely high. 
D.
a deduction. 

49.
One way that businesses often accelerate cash receipts is by
A.
making deposits. 
C.
offering discounts. 
B.
sending payment notices. 
D.
approving purchases. 

50.
As a general rule, effective cash management involves
A.
accelerating cash outlays. 
C.
delaying cash outlays. 
B.
delaying cash inflows. 
D.
keeping a high minimum cash balance. 

51.
To manage receivables effectively, businesses do which of the following:
A.
Invoice the correct individual. 
B.
Call the human resources director with any complaints. 
C.
Distribute a press release regarding late payments. 
D.
Conduct professional development seminars. 

52.
For non-financial corporations, which source of short-term financing is more popular than bank loans?
A.
Accruals 
C.
Commercial papers 
B.
Accounts payable 
D.
Promissory notes 

53.
One reason why it is important for a business to manage inventory is to 
A.
monitor the workforce. 
C.
control the investment. 
B.
arrange for delivery. 
D.
estimate the revenue. 

54.
Valuation of a firm to be acquired can be documented according to the sale value of its individual parts. This is called the
A.
break up value. 
C.
removable portion. 
B.
dividend value. 
D.
divisible portion. 

55.
Which of the following is not a potential outcome of synchronizing cash flows:
A.
Decreased bank loans 
C.
Lowered profits 
B.
Reduced cash balances 
D.
Lowered interest expenses 

56.
When analyzing the variance of securities, which of the following statements is false:
A.
Deviations are squared in order to eliminate any negative values. 
B.
Each return is subtracted from its expected return in order to come up with a deviation. 
C.
The smaller the deviation, the riskier the investment. 
D.
The expected return is the sum of the possible returns and their respective probabilities. 

57.
One reason why businesses that have stockholders usually prepare annual reports is to
A.
inform stockholders of the condition of their investment. 
B.
analyze the operating procedures of the company. 
C.
encourage stockholders to provide useful feedback. 
D.
use the report to generate worldwide publicity. 

58.
Which of the following is a revenue source that businesses evaluate because it often generates future income:
A.
Accounts receivable 
C.
Money supply 
B.
Cash payments 
D.
Profit margin 

59.
Stating each item on an income statement as a dollar amount as well as a percentage of sales is an example of __________ analysis.
A.
operating 
C.
ratio 
B.
horizontal 
D.
vertical 

60.
Calculate the yield on 100 shares of stock that sell for $40 a share and pay a $2.50 annual dividend.
A.
10% 
C.
6 1/4% 
B.
4 1/2% 
D.
8 3/4% 

61.
The future value of deferred annuities is determined by the
A.
amount of interest that accumulates. 
C.
annual rate of dividend payments. 
B.
investor who manages the account. 
D.
ongoing level of financial risk. 

62.
The annual percentage rate is the figure that borrowers and creditors use to calculate
A.
liquidity costs. 
C.
future cash needs. 
B.
stock values. 
D.
total finance charges. 

63.
What do investors often consider when measuring financial returns?
A.
Turnover 
C.
Compliance 
B.
Inflation 
D.
Utility 

64.
If prices in the stock market overall are up 12 percent and a particular stock is up 9 percent over the same time period, the security's beta value is 
A.
21 
C.
.75 
B.
1.3 
D.
3 

65.
In a period of rising costs due to inflation, the last-in, first-out (LIFO) method of inventory can lower a company's taxes by
A.
decreasing the cost of goods sold and increasing taxable income. 
B.
increasing the cost of goods sold and decreasing taxable income. 
C.
increasing both cost of goods sold and taxable income. 
D.
decreasing both cost of goods sold and taxable income. 

66.
What type of business structure is not taxed as a business?
A.
Franchise 
C.
Partnership 
B.
Corporation 
D.
Directorship 

67.
When a business fails, it is usually due to problems with which of the following:
A.
International issues 
C.
The economy 
B.
Competitors 
D.
Internal issues 

68.
Which of the following is a characteristic of convertible securities:
A.
Low cost 
C.
Negotiable 
B.
High risk 
D.
Exchangeable 

69.
A corporation selling shares of stock to raise money is involved in
A.
diversification. 
C.
debt financing.  
B.
equity financing. 
D.
amortization. 

70.
When businesses establish tax policies/procedures, they must select the tax year, which is known as the
A.
accounting period. 
C.
tax season. 
B.
fiscal limitation. 
D.
entry cycle. 

71.
Before a tax preparation business decides to hire a new employee, the business must first 
A.
consider the demand for the business's product. 
B.
obtain application forms from the government. 
C.
ask current employees to increase their workloads. 
D.
advertise the position in the newspaper. 

72.
An employee who criticizes a supervisor in public or who tries to have the supervisor removed might be terminated for
A.
misconduct. 
C.
mutiny. 
B.
performance. 
D.
discrimination.

73.
Which of the following training methods would involve having a trainee make quick decisions about a series of hypothetical, but true-to-life, problems:
A.
Job rotation 
C.
Junior boards
B.
In-basket simulations
D.
Understudy 

74.
Susan complains that she has been scheduled to work on her day off. As Susan's supervisor, what should you do first?
A.
Tell Susan to work it out with her coworkers. 
B.
Set a specific time to give Susan a decision.
C.
Gather additional information about the situation.
D.
Tell Susan to work as scheduled.

75.
An employee's income tax obligation is based on his/her
A.
gross pay. 
C.
weekly wages. 
B.
net pay. 
D.
overtime rate. 

76.
When businesses carry out all of the activities that are necessary in order to get products from producers to consumers, they are engaged in
A.
promotion. 
C.
exchange. 
B.
retailing. 
D.
marketing.

77.
Since Maria's business has grown significantly over the past year, she feels that it is time to transfer her handwritten records into a software program. Maria is changing to which style of record keeping?
A.
Computerized 
C.
Common 
B.
Manual 
D.
Scientific 

78.
Which of the following is an ongoing population trend that affects how estate planning businesses market their goods and services:
A.
Behavior 
C.
Migration
B.
Consumption 
D.
Lifestyle 

79.
When organizing records of company financial activities, it is helpful to use a software program that is
A.
utilized by successful competitors. 
C.
customized to the needs of the business. 
B.
purchased from a technology specialist. 
D.
formatted according to standard processes. 

80.
When a customer or an employee is involved in a minor accident on the business's premises, an employee of the business should immediately
A.
help the injured person move to a quiet area.
B.
offer to take the person home.  
C.
report the accident to a supervisor or manager.
D.
call the local medical emergency number.  

81.
Why might a business decide to purchase goods for a price higher than the lowest possible price?
A.
To spend additional funds 
C.
To satisfy a favorite vendor
B.
To obtain needed delivery date
D.
To arrange flexible contracts

82.
A business that places orders after reviewing written quotes provided by several suppliers is using the __________ buying method.
A.
blank-check 
C.
lowest-price
B.
competitive-bid 
D.
standard-markup

83.
For a quality improvement initiative to succeed, it is essential for top management to
A.
evaluate the initiative. 
C.
try the initiative for a short time. 
B.
support the initiative. 
D.
believe the initiative will work. 

84.
Determine whether the following statement is true or false: Employees can help the business to control expenses by being as productive as possible.
A.
True, employees should be productive even when they are ill.
B.
False, employee productivity does not help the business.
C.
True, when an employee wastes time, the company is losing money.
D.
False, employee productivity does not affect expenses.

85.
Financial businesses that do not keep track of the quantities of on-hand office supplies may run out and be forced to
A.
place expensive rush orders. 
C.
go out of business. 
B.
stop selling merchandise. 
D.
recruit additional personnel.

86.
Businesses often conduct a break-even analysis to determine the __________ needed to break even.
A.
fixed costs 
C.
type of supply 
B.
level of sales 
D.
cash flow 

87.
A bank decides to buy plastic cups rather than paper cups to provide beverages to customers in order to control expenses. How much will the bank save if it buys 5 million cups, and plastic cups cost $3.50 per thousand and paper cups cost $3.75 per thousand?
A.
$1,150 
C.
$1,350
B.
$1,250 
D.
$1,500

88.
When analyzing currency to determine whether a bill is counterfeit or not, the easiest and quickest method is to look at the
A.
portrait and oval background. 
C.
printing date.
B.
paper weight. 
D.
serial numbers. 

89.
An effective time-management approach for the manager of a large staff of employees would be to
A.
build flexibility into his/her schedule. 
B.
fill each day's work schedule completely.
C.
block off six hours of uninterrupted work time daily.
D.
delegate most managerial responsibilities to an assistant.

90.
Is it appropriate for job applicants to ask the business to let them know when the business makes a decision about filling a job?
A.
Yes, this request can be included in a follow-up letter.
B.
No, the business should not give out this information.
C.
No, the business will notify them without being asked.
D.
Yes, this should be the applicants' first question.

91.
One of the reasons why networking is so effective is because the contacts often
A.
are interested in the same position. 
C.
have information about job skills.
B.
work at the company that is hiring.
D.
know how to communicate with others.

92.
What do businesses use to keep track of the financial aspect of the business?
A.
Accounting 
C.
Banking 
B.
Bookkeeping 
D.
Investing 

93.
The transfer of capital can occur directly, through an investment banking house, or through a
A.
financial intermediary. 
C.
portfolio. 
B.
variance. 
D.
valuation model. 

94.
Calculating the length of time it takes to process a purchase order and the length of time it takes for a vendor to deliver the order is an important part of
A.
determining when to buy. 
C.
planning the merchandise.
B.
arranging transportation. 
D.
preparing to count inventory.

95.
In which of the following situations is it appropriate for a salesperson to use the service approach:
A.
Customer seems to be in a hurry. 
B.
Salesperson is busy with another customer. 
C.
Customer is examining a specific item. 
D.
Salesperson is creating a friendly atmosphere. 

96.
Which of the following methods of answering customers' objections is often used when the customer misunderstands the product:
A.
Yes, but . . . 
C.
Deny it 
B.
Toss-it-back 
D.
Point-counterpoint

97.
A financial planner might obtain information about land investments from which of the following individuals:
A.
Building inspector 
C.
General contractor 
B.
Trust attorney 
D.
Real estate agent 

98.
Which of the following is an example of an auxiliary transaction that some financial institutions complete for customers:
A.
Provide mortgage loans 
C.
Sell stored-value cards 
B.
Operate ATM machines 
D.
Handle direct deposits 

99.
Each month, Bob, the president of Widgets International, establishes goals for the company. Based on these goals, he sends specific directions to the managers of each operational division. What management function is Bob performing?
A.
Planning 
C.
Staffing
B.
Organizing 
D.
Controlling

100.
A person who wants to start a new company and needs financial support should develop a business plan to present to potential
A.
clients. 
C.
investors. 
B.
competitors. 
D.
promoters. 

1.
A
To avoid paying penalties. The Occupational Safety and Health Administration (OSHA) is a federal governmental agency that writes and enforces safety and health standards for businesses. OSHA has the authority to impose financial penalties on financial-services firms that are in violation of OSHA regulations. These penalties may be significant depending on the type of violation. Also, OSHA may give a financial-services firm a certain amount of time to correct the violation and impose additional penalties if the problem is not corrected by then. OSHA has the authority to make on-site inspections at any time. Financial-services businesses comply with OSHA regulations to prevent work-related accidents rather than to monitor the number of accidents. Complying with OSHA will not eliminate all complaints but will make the workplace safer for employees.
SOURCE:
BL:008
SOURCE:
Dessler, G. (2000). Human resource management (8th ed.) [pp. 564-568]. Upper Saddle River, NJ: Prentice Hall.

 2.
C
Pyramid schemes. Pyramid schemes are recognized as illegally run businesses that operate by using multi-level marketing strategies. Typically, pyramid clubs require potential members to pay an investment fee up front. Sometimes this amount can be thousands of dollars. Most of the emphasis is on recruiting new members, so that more investment fees can be collected. Very little emphasis is placed on product attributes or quality. Deceptive advertising refers to the use of nonpersonal, paid promotional venues to mislead the audience about the attributes of a product. Marketing rackets and pressure-cooker tactics are not recognized terms in regard to multi-level marketing concepts.
SOURCE:
BL:003
SOURCE:
BA LAP 7—Own It Your Way

 3.
D
Leave a good last impression with callers. Leaving a good last impression is just as important as creating a positive first impression. An investment firm's employees do not want the professional image they have created to be ruined in the last seconds of the call. Concluding calls pleasantly may help you to get a good performance review, but that is not the purpose of it. Providing callers with accurate information and making good use of your time are not part of ending calls pleasantly.
SOURCE:
CO:114
SOURCE:
Rokes, B. (2000). Customer service: Business 2000 (pp. 59-62). Mason, OH: South-Western.

 4.
B
Features and benefits. When they are planning on making large or expensive purchases, some business customers ask the business to submit written sales proposals. Because the goal of the proposal is to make a sale, a well-written proposal will tell the customer the benefits of purchasing the business's products. The sales proposal should also point out the specific features of the products which may be different from the features of a competitor's product. The proposal might include shipping information, but receiving is controlled by the customer. The proposal usually includes pricing information but not accounting information. Laws and regulations usually are not part of a sales proposal unless the product is one that is regulated by the government.
SOURCE:
CO:062
SOURCE:
Locker, K.O. (2000). Business and administrative communication (5th ed.) [pp. 368-376]. Boston: Irwin/McGraw-Hill.

 5.
D
Decrease in sales. Maintaining good client relations is important to a financial-services firm because clients who receive poor treatment may move their accounts to competitors and never return to the firm, resulting in decreased business for the firm. Also, clients who are poorly treated may tell their friends and others about the treatment, and these people may decide not to use the firm's services, thereby adding to the firm's losses. Failing to maintain positive client relations probably would not result in a loss of advertisers, a reduction in assets, or a lowering of goals.
SOURCE:
CR:003
SOURCE:
Rokes, B. (2000). Customer service: Business 2000. (p. 19) South-Western.

 6.
D
By requesting input through employee and customer surveys. Service-oriented companies are generally committed to providing exceptional service levels. Service-oriented companies are always looking for ways to improve their service levels. Requesting feedback from employees and customers regarding service levels is one way businesses can evaluate and improve service. Testimonials are statements by identified users of a product proclaiming the benefits received from the use of a product. Distributing testimonials, evaluating product development procedures, and conducting a feasibility analysis are not methods that businesses generally use to improve their service levels.
SOURCE:
CR:005
SOURCE:
Rokes, B. (2000). Customer service: Business 2000 (p. 139). Mason, OH: South-Western.

 7.
C
Let them have their say. The best way to deal with domineering/superior customers is to let them have their say. But in the end, make sure that the right thing is done. Never pressing for sales or decisions is the best way to deal with leave-me-alone customers. Avoiding jumping to quick conclusions is the best way to deal with dishonest customers. Explaining and demonstrating good service as many times as you need to is the best way to deal with suspicious customers.
SOURCE:
CR:009
SOURCE:
EI LAP 1—Making Mad Glad

 8.
C
To aid in marketing planning. Classifying goods and services helps marketers select appropriate marketing activities for a particular good or service. The types of promotion, distribution, and selling that a marketer uses are affected by the product's classification. Production increases are not based on a product's classification. Determining promotional budgets and prices are aspects of marketing planning.
SOURCE:
EC:002
SOURCE:
Burrow, J.L. (2006). Marketing: Instructor's wraparound edition (2nd ed.) [pp. 273-275]. Mason, OH: Thomson/South-Western.

 9.
C
Buying power. Buying power is the customer's ability to purchase based on the amount of his/her disposable income. Other factors that affect the price decision are satisfaction (value) and relative prices. Incentive is a function of relative price that encourages producers to change and reallocate their resources. Rationing is a function of relative price that affects who gets the goods or services that are produced. Production costs affect how much a customer has to pay for a product versus willingness to purchase.
SOURCE:
EC:006
SOURCE:
EC LAP 12—Price

10.
A
Maximizing their profits. Social responsibility is the duty of business to contribute to the well-being of society. One of the major ways businesses (e.g., investment firms) demonstrate social responsibility is by maximizing their profits. In order to do this, they must "mind the store" efficiently, offer quality products, meet the needs of their clients, and minimize their operating costs.
SOURCE:
EC:070
SOURCE:
EC LAP 20—Business Connections (Business and Society)

11.
B
Profit. Profit is the monetary reward a business owner receives for taking the risk involved in investing in a business. In order to realize a profit, the business must take in more money than it spends. Income is revenue from all sources. Capital is the businessperson's investment in the business. A loss occurs when a firm's income is less than its expenses.
SOURCE:
EC:010
SOURCE:
EC LAP 2—Risk Rewarded

12.
A
Natural. Natural risks result from such natural causes as floods, tornadoes, fires, lightning, blizzards, and earthquakes. Wildfires would be a natural risk. Economic risks are changes in the market that force prices to be lowered, products to change, or even businesses to fail. Human risks are caused by human weakness and the unpredictability of employees and/or customers. Incompetence is a form of human risk whereby the employee does not have the skills, knowledge, or attitudes needed to succeed in the position.
SOURCE:
EC:011
SOURCE:
EC LAP 3—Lose, Win, or Draw (Business Risk)

13.
B
Businesses. An atmosphere of cooperation between labor and management is the basis for a good quality of work life. Productivity is increased when workers have positive feelings about the quality of their work life. Businesses are responsible for providing a quality of work life that fosters productivity. Employees determine how productive they will be, but they are not responsible for providing a good quality of work life. It is not the main responsibility of customers or unions to provide a good quality of work life.
SOURCE:
EC:013
SOURCE:
EC LAP 18—Make the Most of It (Productivity)

14.
D
A lower rate of inflation. When a lot of people are out of work, they lose their buying power, which means less money is in circulation. Because unemployed people have less disposable income, the demand for goods and services is low, which tends to slow or lower the rate of inflation (rise in prices). The amount of monetary policies that the Fed establishes does not affect unemployment rates. When the GDP grows, an economic expansion is occurring, which indicates that people and businesses are spending money, and the unemployment levels are low.
SOURCE:
EC:082
SOURCE:
Farese, L. S., Kimbrell, G., & Woloszyk, C. A. (2009). Marketing essentials (pp. 64-67). Woodland Hills, CA: Glencoe/McGraw-Hill.

15.
A
To make plans that will level out cycles. By understanding whether business activities will be expanding or contracting, businesspeople can take steps to avoid the extreme ups and downs of business cycles. They can anticipate changes that will be needed in employment, production, pricing, and purchasing. These plans, however, will not prevent cycles from happening. Unfortunately, businesspeople cannot predict precisely when business cycles will begin or end, how long they will last, or how severe they will be. There is no single cause of business cycles.
SOURCE:
EC:018
SOURCE:
Burrow, J.L. (2006). Marketing: Instructor's wraparound edition (2nd ed.) [pp. 494-495]. Mason, OH: Thomson/South-Western.

16.
A
Exporting. Exporting is the selling of goods and services produced in one country to the individuals, manufacturers, or governments of another. This is a legal form of trade referred to as international trade. Domestic trade is the buying and selling of goods within a country. Importing occurs when goods or services are brought into a country from other nations.
SOURCE:
EC:016
SOURCE:
EC LAP 4—Beyond US (International Trade)

17.
B
Financial condition. The rate of unemployment indicates the number of individuals who are out of work but who want a job. This is an economic factor that may have an impact on a business's financial condition because if people are unemployed, they do not have extra money to spend on products. As a result, a business's sales and income might decrease. This usually has a negative effect on a business's financial condition. The rate of unemployment does not impact a business's tax structure or depreciation level. Governments develop monetary systems.
SOURCE:
EC:086
SOURCE:
O'Sullivan, A., & Sheffrin, S.M. (2003). Economics: Principles in action (pp. 334-335). Upper Saddle River, NJ: Prentice Hall.

18.
A
Reputation. A credit union manager who has the reputation of being knowledgeable and experienced usually has credibility with employees. Credibility is believability, and employees are more likely to believe a manager who has the appropriate background and ability. Managers who have a reputation of being unethical or poorly informed often have difficulty persuading employees because the managers lack credibility. Aptitudes are natural talents for learning specific skills. Creativity is the ability to generate unique ideas, approaches, or solutions. Patience is the ability to endure life's aggravations and difficulties calmly.
SOURCE:
EI:012
SOURCE:
Hyden, J.S., Jordan, A.K., Steinauer, M.H., & Jones, M.J. (1999). Communicating for success (2nd ed.) [pp. 326-327]. Cincinnati: South-Western Educational.

19.
B
Build strong relationships. Negotiation can be a means of strengthening long-term relationships with customers, suppliers, coworkers, and other businesses. Negotiation demands a spirit of cooperation. Entering negotiation with the idea of getting a certain action, keeping negative people quiet, or getting something done will not produce a situation that allows everyone to feel they have gained through the process.
SOURCE:
EI:062
SOURCE:
EI LAP 8—Make It A Win-Win (Negotiation)

20.
A
Reward. A reward is a tangible item given for someone's service or accomplishment. A plaque acknowledging outstanding work is an example of a reward. On the other hand, recognition is special notice or attention, not an actual item. However, giving an employee a plaque as a reward is a way of recognizing a person's efforts. A plaque is not a compliment or a benefit.
SOURCE:
EI:014
SOURCE:
QS LAP 13—Gimme Five!

21.
B
Increased cooperation. Practicing effective human relations skills often has a mirror effect. When you are helpful to others, they will generally be helpful to you. This kind of atmosphere increases communication and both employee and customer loyalty. Human relations skills do not affect the benefits that an investment firm offers.
SOURCE:
EI:037
SOURCE:
EI LAP 5—Can You Relate?

22.
B
Culture. The culture of an organization involves the way the organization operates in regard to its treatment of employees and customers. The way businesses (e.g., financial-services companies) behave indicate the type of culture that exists in the businesses. For example, some businesses encourage employees to participate and share ideas, and work hard to develop strong relationships with both employees and customers. Other businesses have a culture that makes employees feel unimportant and does not acknowledge their effort. The way a business behaves and treats both its employees and its customers is not the organization's mission or goal. However, the way a business behaves might be a strength if it treats employees and customers in a positive way. On the other hand, the behavior might be a weakness if it reduces morale and has a negative effect on employees.
SOURCE:
EI:064
SOURCE:
Goerger, H. (2007). Business culture: Where management stops and leadership begins. Retrieved October 8, 2008, from http://www.kevinhogan.com/leadership-business-culture.htm

23.
C
Higher prices. Businesses that offer credit to their customers usually charge higher prices for their goods and services than those that do not. This change in the pricing element of the marketing mix helps businesses recover the costs of extending credit. Interest rates are fees the lender charges the borrower for the use of the money. Annual fees are yearly fees charged for the privilege of using a bank credit card. Finance charges are interest charges on credit accounts that are not paid in full at the end of each payment period. They are usually a percentage of the total amount due.
SOURCE:
FI:002
SOURCE:
FI LAP 2—Credit and Its Importance

24.
B
Written down. People who have written goals accomplish 50 to 100 times more than people who do not. You are not more likely to achieve goals that are based on needs only or that are long- or short-term.
SOURCE:
FI:065
SOURCE:
QS LAP 31—Set Yourself Up

25.
C
$924.28. The total value of a bond is the sum of the present value of the bond at maturity and the present value of each of the payments (an annuity). The present value of the bond at maturity is given at $621. To find the present value of the payments, the payment amount is multiplied by the value that corresponds to the required rate of return and the number of periods on a present value of an annuity table. As noted above, the value at 10% for 5 years is 3.791. Therefore, the present value of the payments is $303.28. To calculate this amount, first determine the annual payments by multiplying the bond amount by the coupon rate ($1,000 x 8% or .08 = $80). Then, multiply that figure by the table value ($80 x 3.791 = $303.28). The total value of the bond is $924.28; $621 (from the bond at maturity) plus $303.28 (from the payments).
SOURCE:
FI:236
SOURCE:
Shim, J.K., & Siegel, J.G. (2000). Financial management (2nd ed.) [pp. 111, 112, 128-129]. Hauppauge, NY: Barron's.

26.
C
Protection from theft and fraud. The accounting system should be set up in a way that makes it difficult for employees to gain access to the system and make changes to the information. The cost of operating the system and the capability to generate printed financial statements are not related to the issue of theft. A business would not be likely to maintain both a computerized and a manual accounting system.
SOURCE:
FI:085
SOURCE:
FI LAP 5—Show Me the Money (Nature of Accounting)

27.
A
$266,140. A balance sheet is a financial statement that captures the financial condition of the business at a particular moment. One of the three main components of a balance sheet is the business's assets, which include anything of value that the business owns. Assets include items such as cash, accounts receivable, inventory, equipment, buildings, land, and investments. To determine the business's assets, add the accounts receivable, the value of the inventory, and the value of the building and equipment ($6,800 + $13,590 + $245,750 = $266,140). A mortgage is a debt rather than an asset.
SOURCE:
FI:093
SOURCE:
Longenecker, J.G., Moore, C.W., & Petty, J.W. (2000). Small business management: An entrepreneurial emphasis (11th ed.) [pp. 211-213]. Cincinnati: South-Western College.

28.
C
Year. Operating budgets are developed to cover a specific period of time in the operating life of a company, usually one year. Businesses may designate their operating year as any 12-month period, such as from January through December or from July through June. A decade, which is 10 years, is too long a time for effective budgeting. A month and a week are too short a time period for effective budgeting.
SOURCE:
FI:098
SOURCE:
Mescon, M.H., Bovee, C.L., & Thill, J.V. (1999). Business today (9th ed.) [pp. 532-533]. Upper Saddle River, NJ: Prentice Hall.

29.
B
Size of the sales force. An internal change is one that occurs within the business and is under the business's control. Increasing or decreasing the number of people on the sales force is an internal change that will affect the sales forecast. For example, decreasing the size of the sales force may cause sales to fall because the remaining staff may not be able to handle as many sales. Changes in the number of competitors in the market, the length of a national recession, and the levels of consumer spending are external changes.
SOURCE:
FI:096
SOURCE:
Etzel, M.J., Walker, B.J., & Stanton, W.J. (2007). Marketing (14th ed.) [pp. 160-164]. Boston: McGraw-Hill/Irwin.

30.
D
$13,000. Net profit is determined by subtracting the cost of goods sold and expenses from total revenue [$100,000 - ($39,000 + $48,000) = $13,000]. Net profit shows how much a business actually made.
SOURCE:
FI:102
SOURCE:
Farese, L.S., Kimbrell, G., & Woloszyk, C.A. (2002). Marketing essentials (3rd ed.) 
[pp. 670-671]. Woodland Hills, CA: Glencoe/McGraw-Hill.

31.
B
Nonprofit organizations. Because nonprofit organizations usually exist to benefit the public, they are often exempt from paying taxes on their purchases. They retain their tax-exempt status by being careful not to share their earnings except through reasonable salary payments to employees. The remaining alternatives are for-profit organizations, which must pay tax.
SOURCE:
FI:090
SOURCE:
Everard, K.E., & Burrow, J.L. (2001). Business principles and management (11th ed.) 
[p. 155]. Cincinnati: South-Western.

32.
C
$36,000. Calculating depreciation using the straight-line depreciation method is done by subtracting salvage value (in this case, $8,000) from cost ($80,000). The remainder is then spread evenly over the expected useful life of the machine (6 years). Thus, ABC's new canning machine is depreciated $12,000 each year; at the end of year 3, total accumulated depreciation is $36,000. Total accumulated depreciation is $12,000 at the end of year 1, $24,000 at the end of year 2, and never $44,000. 
SOURCE:
FI:143
SOURCE:
Cooke, R. (2004). The McGraw-Hill 36-hour course in finance for nonfinancial managers 
(2nd ed.) [pp. 77-82]. New York: McGraw-Hill.

33.
C
7%. The rate of return on a corporate bond is the yield, which is stated as a percentage. Investors want to know the yield in order to decide if the return on investment is comparable to other investments. To calculate the rate of return, or yield, first calculate the annual interest by multiplying the original price of the bond by the interest rate ($2,000 x 6.5% or .065 = $130). Then, divide the annual interest payment by the current market value of the bond to determine yield ($130 ÷ $1,850 = .0702 or 7%).  
SOURCE:
FI:171
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (pp. 325-326). New York: Glencoe/McGraw-Hill.

34.
C
Improve profit margins. Profit margin is a ratio of net profit (after taxes) divided by net sales that reflects the profit per dollar of sales. One way to improve profit margins is to keep costs low while increasing sales. If there are fewer expenses, then the cost of doing business decreases, and there is more money remaining. This results in a higher profit margin. Keeping costs low while working to increase sales is not a way for businesses to eliminate product shortages, monitor liquid assets, or develop budget goals. However, controlling costs and increasing sales might be budget goals.
SOURCE:
FI:173
SOURCE:
Farese, L.S., Kimbrell, G., & Woloszyk, C.A. (2006). Marketing essentials (pp. 105-106). New York: Glencoe/McGraw-Hill.

35.
B
Deferred annuities. An annuity is a type of investment that earns interest. There are different types of annuities such as fixed, variable, and deferred. Young people often purchase deferred annuities as a way of supplementing retirement plans because the annuities will pay them an income in the future. Escrow accounts are set up to deposit funds to cover certain expenses, such as property taxes. Buying real estate will not necessarily provide an income in the future. People buy stock that often pays dividends, but they do not buy dividends. 
SOURCE:
FI:175
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (pp. 495-496). New York: Glencoe/McGraw-Hill.

36.
A
$1,710. Individuals often evaluate mutual funds on the basis of average return to decide if the funds are a good investment. In some situations, 12% might be an acceptable return. In this case, the return is expected to increase by 2% this year and become a 14% return (12% + 2% = 14%). To calculate the worth of the investment based on the increased return, multiply the amount invested by the new return ($1,500 x 14% or .14 = $210). Then, add the cost of the investment and the return ($1,500 + $210 = $1,710).
SOURCE:
FI:177
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (pp. 340-345). New York: Glencoe/McGraw-Hill.

37.
C
$50,270. Taxable income is determined by subtracting the standard deduction and any exemptions from adjusted gross income. In this case, the exemption is $6,600 because the client has a spouse and is entitled to two exemptions. To calculate taxable income, subtract the standard deduction from adjusted gross income ($64,720 - $7,850 = $56,870), and the exemption from that amount ($56,870 - $6,600 = $50,270). The $345 in interest will have been added to salary and wages to determine the adjusted gross income.
SOURCE:
FI:180
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (pp. 390-399). New York: Glencoe/McGraw-Hill.

38.
C
Engaged. Tax rate schedules are limited to single, married, and head of household. Married taxpayers may use a "separate" or "joint" schedule. Engaged couples are not eligible to file a joint return.
SOURCE:
FI:183
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (pp. 384-385, 387). New York: Glencoe/McGraw-Hill.

39.
A
Time charges. Businesses that bill clients for time or labor charges usually develop an hourly billing rate that covers all the costs associated with providing the service. These costs usually include wages and salaries, benefits, operating expense, and desired profit. For example, when developing a client's account statement, the business determines the number of hours and multiplies the time by the hourly billing rate. If the business spends 5 hours preparing tax statements and the hourly billing rate is $75, the client's statement will indicate a charge of $375. Businesses do not use an hourly billing rate to bill clients for interest fees, bond payments, or cash advances. 
SOURCE:
FI:184
SOURCE:
Guerrieri, D.J., Haber, F.B., Hoyt, W.B., & Turner, R.E. (2004). Accounting: Real-world applications & connections (Advanced course) [pp. 746-747]. New York: Glencoe/McGraw-Hill.

40.
B
Internal controls. Corporations can employ an asset-management service to manage information technology hardware, investments, and inventory, but not internal controls. Internal controls are established and maintained internally rather than by an outside service.
SOURCE:
FI:187
SOURCE:
U.S. Trust. (n.d.). Customized asset management. Retrieved October 8, 2008, from http://www.ustrust.com/public/ustrust/wealth_management_investments/family_wealth/asset_allocation_customized?cmsid=P-438253&lvl1=wealth_management_investments&lvl2=family_wealth&refid=P-510445

41.
B
Governmental rules and regulations. Financial institutions are required to comply with various governmental rules and regulations, such as reporting and paying different types of taxes. In order to comply with these rules and regulations, financial institutions develop a system to maintain and report the necessary information. This information might include payroll withholdings and required payments for unemployment compensation. Without an effective system in place, financial institutions may not be able to adhere to a compliance plan. Adhering to a compliance plan does not involve following various industry policies and procedures, security methods and techniques, or privacy requirements and laws. 
SOURCE:
FI:189
SOURCE:
Everard, K.E., & Burrow, J.L. (2001). Business principles and management (11th ed.) 
[pp. 390-391]. Cincinnati: South-Western.

42.
B
10%. Return on investment is the product of profit margin and total asset turnover. With an ROI of 18% and total asset turnover of 2 times, profit margin is 9%. To determine profit margin, divide ROI by asset turnover (18% or .18 ÷ 2 = .09). In order to increase ROI to 20% while total asset turnover remains constant, profit margin must increase to 10%. To determine this, divide the new ROI by asset turnover (20% or .20 ÷ 2 = .10 or 10%).
SOURCE:
FI:192
SOURCE:
Shim, J.K., & Siegel, J.G. (2000). Financial management (2nd ed.) [pp. 86-87]. Hauppauge, NY: Barron's.

43.
D
Risk-return tradeoffs. When businesses evaluate the cost of purchasing certain assets in the hope that these assets will have significantly more value in the future, they are assessing whether the risk of investing is worth the expected return. Businesses often take the risk of investing in certain assets because they believe the assets will increase in value. The tradeoff is spending money now in order to have more valuable assets in the future. However, the risk is that the assets will decrease in value and the business will lose money. Cash-flow projections are predictions of whether the cash generated by a business can cover the operating expenses and loan repayments. Profit-margin requirements are the percentage of profit the business wants to make based on income from sales. Short-term objectives are goals that can be achieved in less that a year.
SOURCE:
FI:195
SOURCE:
Cunningham, B.M., Nikolai, L.A., & Bazley, J.D. (2000). Accounting: Information for business decisions (pp. 214-216). Orlando, FL: Harcourt.

44.
C
Emergency situations. Businesses develop budgets to plan for future income and expenses. Before finalizing a budget, businesses usually review it to make sure they have included all the important components. One of these components is allocating funds for emergency situations. Businesses know that unexpected situations may arise which require the expenditure of cash. If businesses have budgeted for an emergency fund, they are prepared to cover these costs. When troubleshooting a proposed budget, businesses do not consider if funds have been allocated for depreciation activities, appraising acquisitions, or identifying investments. However, they may allocate funds to make acquisitions that might include investments.
SOURCE:
FI:197
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (p. 76). New York: Glencoe/McGraw-Hill.

45.
C
$96,750. Businesses often forecast future financing needs to make arrangements to borrow the funds needed for certain activities, such as purchasing equipment. In this situation, the business has more income than expenses but not enough to cover the cost of purchasing the equipment. To calculate financing needs, subtract expenses from income ($375,000 - $296,750 = $78,250). Also, subtract from that figure the amount the business wants to maintain in a cash reserve ($78,250 - $50,000 = $28,250). The business will have $28,250 available to put towards the purchase of the equipment. Subtract that amount from the price to determine financing needs ($125,000 - $28,250 = $96,750).
SOURCE:
FI:198
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (pp. 547-555). New York: Glencoe/McGraw-Hill.

46.
C
Industry averages. Businesses often analyze a variety of financial information to determine net profit, return on investment, inventory turnover, etc. These figures indicate trends that are important to the business. For example, a business might find that it is not selling inventory as quickly as it should and has too much money tied up in inventory. By comparing this with industry averages, a business can determine inventory turnover in similar businesses. If its turnover is very low compared to the industry average, the business knows it must take steps to correct the problem. Businesses do not conduct a trend analysis to compare their financial ratios with current liabilities, operating standards, or variable expenses. 
SOURCE:
FI:202
SOURCE:
Kuratko, D.F., & Hodgetts, R.M. (2001). Entrepreneurship: A contemporary approach
(5th ed.) [pp. 275-280]. Mason, OH: South-Western.

47.
B
Long-term financial needs. Businesses acquire a variety of assets over a period of time. These assets include equipment, property, investments in other companies, and cash. When determining the optimal mix and type of assets to acquire, businesses consider their long-term financial needs because certain investments increase in value over time and add to the net worth of the business. For example, a business might invest in high-yield bonds to generate a lot of cash in ten years. Businesses do not consider basic accounting methods or fee-only brokerage firms when determining the optimal mix and type of assets. Individuals rather than businesses usually are concerned with estate planning services.
SOURCE:
FI:203
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (pp. 66-67). New York: Glencoe/McGraw-Hill.

48.
A
Tax exempt. Individuals often consider the impact of taxes on investments because most investment income is taxable. Depending on the type of investment, the tax may be very high, which might discourage potential investors. However, the interest on certain types of municipal bonds is tax exempt, so investors earn income on which they do not pay taxes. This is an attractive feature of municipal bonds. However, the interest on those bonds usually is low rather than extremely high. Interest is paid when the bonds mature. The interest on bonds is income rather than a deduction.
SOURCE:
FI:205
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (p. 333). New York: Glencoe/McGraw-Hill.

49.
C
Offering discounts. Accelerating cash receipts involves speeding up the process of getting customers to pay. This is one way to manage cash and increase the business's cash flow. Businesses often accelerate cash receipts by offering discounts, which encourage customers to pay quickly in order to take advantage of the discounts. Although the business reduces the amount it receives, it obtains the funds in a short amount of time and has more cash on hand. Businesses routinely send payment notices, make deposits, and approve purchases. However, these activities do not accelerate cash receipts.
SOURCE:
FI:210
SOURCE:
Cunningham, B.M., Nikolai, L.A., & Bazley, J.D. (2000). Accounting: Information for business decisions (pp. 442-444). Orlando, FL: Harcourt.

50.
C
Delaying cash outlays. Effective cash management involves delaying cash outlays so that the company profits as long as possible from having cash. At the same time, cash inflows should be accelerated as much as possible. Keeping a high minimum cash balance is not effective cash management if the cash could be used more profitably on projects or through investment.
SOURCE:
FI:212
SOURCE:
Shim, J.K., & Siegel, J.G. (2000). Financial management (2nd ed.) [pp. 186-193]. Hauppauge, NY: Barron's.

51.
A
Invoice the correct individual. Receivables are monies owed the business. To collect, businesses must invoice the correct person. If the correct person does not receive the invoice, it may delay the payment process. They do not need to call human resources or issue a press release when things go wrong. Conducting professional development seminars may or may not directly influence the effective managing of receivables.
SOURCE:
FI:213
SOURCE:
American Express. (n.d.). Effective billing practices. Retrieved October 8, 2008, from http://www133.americanexpress.com/osbn/Tool/collections/billing_practices.asp

52.
B
Accounts payable. For non-financial corporations, accounts payable (or trade credit) is the largest category of short-term financing. Accounts payable are all monies owed by the business to others. If a company delays paying its bills, it will have more funds available. Accruals are continual short-term debts over which a company may have little realistic control. A commercial paper is an unsecured loan issued by a corporation. A promissory note is the document signed when a bank loan is approved.
SOURCE:
FI:216
SOURCE:
Brigham, E.F., Gapenski, L.C., & Ehrhardt, M.C. (1999). Financial management: Theory and practice (9th ed.) [pp. 839-856]. Fort Worth, TX: The Dryden Press.

53.
C
Control the investment. Businesses often have a significant investment in inventory. However, businesses do not want to have any higher investment in inventory than is necessary to satisfy customers. Managing inventory is one way to control the investment. Therefore, businesses monitor inventory levels to keep the right amount in stock without spending more than is necessary. Managing inventory does not involve arranging for delivery, monitoring the workforce, or estimating the revenue. 
SOURCE:
FI:218
SOURCE:
Berman, B., & Evans, J.R. (2004). Retail management: A strategic approach (9th ed.) 
[p. 375]. Upper Saddle River, NJ: Prentice Hall.

54.
A
Break up value. When a firm is to be acquired, the valuation can be performed according to break up value—as if the individual parts were sold separately. Dividends are payments made to company stockholders. The terms "removable portion" and "divisible portion" are not used to describe the valuation of a company.
SOURCE:
FI:220
SOURCE:
Brigham, E.F., Gapenski, L.C., & Ehrhardt, M.C. (1999). Financial management: Theory and practice (9th ed.) [p. 988]. Fort Worth, TX: The Dryden Press.

55.
C
Lowered profits. When managing the cash-flow cycle, synchronizing cash flows helps companies to reduce cash balances, decrease bank loans, and lower interest rates. It also helps companies boost profits, not lower them.
SOURCE:
FI:225
SOURCE:
Brigham, E.F., Gapenski, L.C., & Ehrhardt, M.C. (1999). Financial management: Theory and practice (9th ed.) [p. 804]. Fort Worth, TX: The Dryden Press.

56.
C
The smaller the deviation, the riskier the investment. When analyzing the variance of securities, the smaller the deviation, the lower the risk of the investment. The first step in variance analysis is determining expected return, which is the sum of the possible returns and their respective probabilities. Each return is then subtracted from its expected return in order to come up with a deviation. One of the steps in conducting a variance analysis is squaring the deviations; this is done to eliminate any negative values.
SOURCE:
FI:227
SOURCE:
Shim, J.K., & Siegel, J.G. (2000). Financial management (2nd ed.) [pp. 120-121]. Hauppauge, NY: Barron's.

57.
A
Inform stockholders of the condition of their investment. An annual report is a document outlining the financial status of a business. Most annual reports also include a summary of the business's activities throughout the year. Businesses that have stockholders usually prepare annual reports to inform stockholders about the condition of their investment. The report also might contain an analysis of the dividends that were paid to stockholders during the year. This information indicates if stockholders are earning an acceptable return on their investment. The report might summarize the business's activities, but it would not analyze the operating procedures. Annual reports are not intended to encourage stockholders to provide useful feedback or to generate worldwide publicity. 
SOURCE:
FI:229
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (p. 286). New York: Glencoe/McGraw-Hill.

58.
A
Accounts receivable. These are all monies owed to a business by its customers. Businesses evaluate accounts receivable because they often generate future income. In many cases, businesses sell products and send invoices to customers who may pay the invoice when received or pay the invoice in 30 to 90 days. If customers are slow paying, the business may not receive the income it needs to operate. Therefore, evaluating accounts receivable will help a business decide if it needs to make changes to obtain revenue on a timely basis. Cash payments are the money that a business spends. Money supply is the total quantity of money that exists at one time in the nation. Profit margin is a ratio of net profit divided by net sales.
SOURCE:
FI:231
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (p. 578). New York: Glencoe/McGraw-Hill.

59.
D
Vertical. There are several types of financial analyses that businesses use to evaluate the performance of the business. One of these is vertical analysis which involves listing each item on the income statement as a dollar amount and also as a percentage of another item on the income statement. For example, a business might state each item as a percentage of sales because it is important to know the relationship between expenses and the sales revenue. Stating each item on an income statement as a dollar amount as well as a percentage of sales is not an example of horizontal, ratio, or operating analyses.
SOURCE:
FI:235
SOURCE:
Cunningham, B.M., Nikolai, L.A., & Bazley, J.D. (2000). Accounting: Information for business decisions (p. 321). Orlando, FL: Harcourt.

60.
C
6 1/4%. The formula for calculating yield is annual dividend divided by the market value, or price per share. In this example, the annual dividend is $2.50 and the market value is $40 per share ($2.50 ÷ $40.00 = .0625 or 6 1/4%). 
SOURCE:
FI:240
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (p. 287). New York: Glencoe/McGraw-Hill.

61.
A
Amount of interest that accumulates. Deferred annuities are investments that pay income in the future. Therefore, the future value of the annuity is determined by the amount of interest that accumulates from the date of purchase until the investor begins to take out income. For example, a $10,000 annuity that earns approximately 7% interest a year has considerable more value in 10 years than it does in five years. The investor does not manage an annuity. Annuities do not pay dividends. The future value of deferred annuities is not determined by the ongoing level of financial risk.
SOURCE:
FI:242
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (pp. 495-496). New York: Glencoe/McGraw-Hill.

62.
D
Total finance charges. The annual percentage rate (APR) is the cost of credit on a yearly basis, stated as a percentage per $100 borrowed. Creditors are required to explain the APR to borrowers so they will be able to determine the total finance charges, which is the cost of borrowing money. The annual percentage rate is not used to calculate stock values, future cash needs, or liquidity costs. 
SOURCE:
FI:244
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (pp. 166-167). New York: Glencoe/McGraw-Hill.

63.
B
Inflation. When measuring financial returns, investors often consider inflation, which is a rise in prices that decreases buying power. Investors measure financial returns to stay ahead of inflation so their money will be worth more. For example, if an investment pays 3% a year but the inflation rate is 4% a year, the investment has lost worth. The financial return is less than the rate of inflation. When measuring financial returns, investors usually do not consider turnover, compliance, or utility.
SOURCE:
FI:246
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (pp. 245-246). New York: Glencoe/McGraw-Hill.

64.
C
.75. Beta is the measure of a security's price movement relative to the overall market. If the market overall is up 12 percent and a particular stock is up just 9 percent over the same period of time, the beta is .75 (9 divided by 12). Beta values greater than 1 indicate a stock that is more responsive than the market. Over this period of time, this security was less responsive than the market.
SOURCE:
FI:249
SOURCE:
Davis, R. (2003). What you need to know before you invest (3rd ed.) [pp.41-43]. Hauppauge, NY: Barron's.

65.
B
Increasing the cost of goods sold and decreasing taxable income. The LIFO method of inventory means that recent goods produced or purchased are the first goods sold. As a result, cost of goods sold reflects current costs, not the cost of older, lower-priced inventory that is counted under the first-in, first-out (FIFO) method. In periods of rising costs due to inflation, this increases cost of goods sold, thereby decreasing taxable income rather than decreasing the cost of goods sold and increasing taxable income, increasing both cost of goods sold and taxable income, or decreasing both cost of goods sold and taxable income.
SOURCE:
FI:251
SOURCE:
Cunningham, B.M., Nikolai, L.A., and Bazley, J.D. (2000). Accounting: Information for business decisions (p. 667). Orlando, FL: Harcourt.

66.
C
Partnership. A partnership is a form of business ownership in which the business is owned by two or more persons. A partnership is taxed like a sole proprietorship rather than as a business. Each partner pays personal tax on the money he or she receives from the partnership. The partnership itself does not pay the tax. A corporation pays tax as a business. Franchise and directorship are not forms of business ownership. A franchise is a contractual agreement.
SOURCE:
FI:253
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (p. 647). New York: Glencoe/McGraw-Hill.

67.
D
Internal issues. When a business fails, it is usually due to problems with internal issues, such as poor customer care. Although competitors, the economy, and international issues can influence the success of a business, they are not usually the cause of business failure.
SOURCE:
FI:257
SOURCE:
Thomsen, B. (n.d.). Why a business fails. American Management Association. Retrieved October 8, 2008, from http://www.amanet.org/partners/score/MO_sample03.htm

68.
D
Exchangeable. Convertible securities give the owner of the securities, such as preferred stock, the right to exchange the preferred stock for a certain number of shares of common stock. If investors own convertible preferred stock, they can exchange the stock at any time for common stock. The corporation cannot prevent the exchange. Convertible securities are not necessarily high risk or low cost. Negotiable is a characteristic of checks that can be cashed at any time.
SOURCE:
FI:258
SOURCE:
Bodie, Z., Kane, A., & Marcus, A.J. (2004). Essentials of investments (5th ed.) [p. 514]. Boston: Irwin/McGraw-Hill.

69.
B
Equity financing. Equity financing involves giving up, or selling, some of the assets of the corporation in exchange for money. When a corporation sells shares of stock, it is selling partial ownership (assets) to investors in order to raise money. Debt financing involves borrowing money that must be repaid.  A corporation selling shares of stock to raise money is not involved in diversification or amortization.
SOURCE:
FI:260
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (pp. 251-252). New York: Glencoe/McGraw-Hill.

70.
A
Accounting period. When businesses establish tax policies/procedures, they must select the tax year, which is known as the accounting period. Some businesses use a calendar year from January through December as the accounting period. Tax season is the time when companies and/or individuals prepare and pay their taxes. "Fiscal limitation" and "entry cycle" are not terms used to describe the tax year.
SOURCE:
FI:223
SOURCE:
CCH Inc. (n.d.). Choice of tax year. Business owner's toolkit. Retrieved October 8, 2008, from http://www.toolkit.cch.com/text/P07_2203.asp

71.
A
Consider the demand for the business's product. Tax preparation businesses often hire additional employees when they expect demand to increase for their products. When a company expects higher sales, it needs to increase its outputs, and therefore, needs more inputs (e.g., personnel) to satisfy the higher product demand. Tax preparation businesses do not need to obtain government application forms to hire employees. The business may not ask current employees to increase their workloads because they may not have the necessary skills to perform the job. Once the business determines that there is a need to hire an employee, the business can advertise the position in the newspaper for outside candidates.
SOURCE:
HR:353
SOURCE:
Dessler, G. (2000). Human resource management (8th ed.) [p.124]. Upper Saddle River, NJ: Prentice Hall.

72.
A
Misconduct. One of the accepted reasons for terminating employees is misconduct on the part of the employee. One type of misconduct is insubordination, which involves disregarding authority, not following the rules, and public criticism. Employees who behave in this manner and who refuse to correct their behavior when it is brought to their attention, may be legally terminated on the grounds of misconduct. Mutiny involves disobeying orders at sea. Employees may be terminated for unsatisfactory performance, which involves not completing tasks according to set standards. Discrimination is unfair treatment of a person or a group based on the person's or group's characteristics.
SOURCE:
HR:358
SOURCE:
Dessler, G. (2000). Human resource management (8th ed.) [pp. 378-380]. Upper Saddle River, NJ: Prentice Hall.

73.
B
In-basket simulations. With the in-basket method, the trainee is given a number of hypothetical, but true-to-life, problems that s/he is asked to solve during the fixed time of the simulation. For example, the trainee might be given a letter from an irate customer, a notification that a shipment has been canceled, and be given a labor-management problem to resolve. Understudy, job rotation, and junior boards involve actual business situations rather than hypothetical ones.
SOURCE:
HR:363
SOURCE:
Desimone, R., Werner, J., & Harris, D. (2002). Human resource development (3rd ed.) 
[pp. 208-209]. Orlando, FL: Harcourt.

74.
C
Gather additional information about the situation. A supervisor should try to get the whole story behind an employee's complaint and identify the actual problem before taking other action. In this case, there is an obvious misunderstanding that needs to be addressed. The supervisor might then set a time at which s/he will make a decision. Telling Susan to work or to solve the problem with the help of coworkers would not be acceptable ways of handling the complaint.
SOURCE:
HR:366
SOURCE:
Farese, L. S., Kimbrell, G., & Woloszyk, C.A. (2009). Marketing essentials (p. 248). Woodland Hills, CA: Glencoe/McGraw-Hill.

75.
A
Gross pay. When processing payroll, a business holds a certain percentage of each employee's gross pay as income tax. Gross pay is the wages an employee earns before deducting taxes. Net pay is the amount of money an employee receives after the business takes out taxes and voluntary deductions. Some employees do not earn wages every week (e.g., temporary workers) or earn overtime. 
SOURCE:
HR:394
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (pp. 608-611). New York: Glencoe/McGraw-Hill.

76.
D
Marketing. Marketing is an organizational function and a set of processes for creating, communicating, and delivering value to customers and for managing customer relationships in ways that benefit the organization and its stakeholders. An exchange is a transfer. Retailing is the sale of goods and services to the ultimate consumer. Promotion is a marketing function which communicates information about goods, services, images, or ideas to customers or clients.
SOURCE:
MK:001
SOURCE:
BA LAP 11—Have It Your Way

77.
A
Computerized. Moving from a "handwritten" to a "software" style of record keeping is called moving from a manual to a computerized style. "Common" and "scientific" are not terms used to describe styles of record keeping.
SOURCE:
NF:001
SOURCE:
NF LAP 1—Record It (Business Records)

78.
C
Migration. Migration is a population trend that indicates movement of people throughout the country as well as into and out of the country. Migration trends are important to estate planning businesses because businesses need to know where their customers are located. For example, many people are retiring and leaving colder climates and migrating to what is considered the Sunbelt. This movement affects businesses because the types of estate planning services they sell and the way they sell them will change. Lifestyle, consumption, and behavior are not population trends; however, these factors also affect how estate planning businesses market their goods and services.
SOURCE:
NF:013
SOURCE:
Zikmund, W.G., & d'Amico, M. (1999). Marketing (6th ed.) [pp. 68-70]. Cincinnati: South-Western College.

79.
C
Customized to the needs of the business. When organizing records of company financial activities, it is helpful to use a software program that is customized to the needs of the business. Programs that are formatted according to standard processes may or may not be helpful. (Business processes should determine the organization tool.) A software program used by a successful competitor may or may not be helpful to the business. In addition, a program purchased from a particular specialist may or may not suit the needs of the business.
SOURCE:
NF:023
SOURCE:
Soloman, M. R., Marshall, G. W., & Stuart, E. W. (2008). Marketing: Real people, real choices (5th ed.) [p. 111]. Upper Saddle River, NJ: Pearson Prentice Hall.

80.
C
Report the accident to a supervisor or manager. Even though an injury is minor, a supervisor or manager should handle any sort of situation in which the business may be subject to lawsuits or liable for damages of any kind. A person with a minor injury would not be immobile and would not need to move unless s/he is causing a traffic problem. Medical emergency numbers are used only in cases of serious accidents or injuries. Offering to take the person to his/her home might be done later, if necessary, but it would not be an immediate step to take.
SOURCE:
OP:009
SOURCE:
SCORE. (n.d.). Risk management. Retrieved October 8, 2008, from http://www.ct-clic.com/Newsletters/customer-files/riskmanagement.pdf


81.
B
To obtain needed delivery date. The people responsible for purchasing should always seek to buy needed goods and services at the lowest possible price, provided that quality, delivery, and service do not suffer. It may not be efficient to purchase at the lowest possible price if the materials cannot be delivered on time. Obtaining the needed delivery date is a reason why a business might decide to purchase goods for a price higher than the lowest possible price. A business would not purchase goods for a price higher than the lowest possible price in order to spend additional funds, satisfy a favorite vendor, or arrange flexible contracts.
SOURCE:
OP:015
SOURCE:
OP LAP 2—Buy Right (Purchasing)

82.
B
Competitive-bid. Placing orders through the use of a competitive-buying method involves sending specifications for products to several vendors who respond with written quotes. Then, the business reviews the quotes and decides which vendor most closely meets the specifications. The specifications might include quality of product, delivery time, and price. This process is time consuming but often provides businesses with vendors that are able to provide exactly what the businesses want. The blank-check buying method involves giving certain vendors the authority to deliver products without first quoting a price. The lowest-price method involves always buying from the low bidder without considering other specifications. Standard-markup is not a buying method.
SOURCE:
OP:016
SOURCE:
Monczka, R., Trent, R., & Handfield, R. (2002). Purchasing and supply chain management (2nd ed.) [pp. 32-34]. Mason, OH: South-Western.

83.
B
Support the initiative. For a quality improvement initiative to succeed, top management must support the initiative. It is not enough that managers simply believe the initiative will work; they must back up the initiative with time and money. Evaluating the initiative takes place before the initiative is approved. Trying the initiative for a short time does not provide an environment of believing in, or supporting, the initiative.
SOURCE:
OP:020
SOURCE:
Dalgleish, S. (2004, August). Top management and quality. Quality, 43 (8), p. 20.

84.
C
True, when an employee wastes time, the company is losing money. When employees waste time, they do not produce as much for the company as they could. This means the company is losing money because of the drop in productivity—the amount and value of products produced from set amounts of resources. Employees can and should try to be as productive as possible, but this does not mean they should try to work when they are ill.
SOURCE:
OP:025
SOURCE:
MN LAP 56—Employee Role in Expense Control

85.
A
Place expensive rush orders. Financial businesses should try to keep in stock the proper quantity of office supplies. Running out of office supplies may force the financial businesses to buy locally or place rush orders that often are expensive. Suppliers that handle rush orders usually charge financial businesses a premium price for quick delivery. Therefore, not keeping track of the quantity of office supplies may be costly to financial businesses. Financial businesses that run out of supplies are not ordinarily forced to go out of business, to stop selling merchandise, or to recruit additional personnel.
SOURCE:
OP:026
SOURCE:
Educational Institute of the American Hotel & Motel Association. (1999). Lodging management program: Year one (pp. 237-247). Lansing, MI: Author.

86.
B
Level of sales. The break-even point is the level of sales at which revenues equal total costs. The purpose of conducting a break-even analysis is to identify the level of sales needed to reach the break-even point at various prices. To determine break-even point, a business must consider three factors—the price per unit, the cost per unit, and the total fixed costs. Businesses do not conduct a break-even analysis to determine the type of supply or cash flow needed to break even.
SOURCE:
OP:192
SOURCE:
Mescon, M.H., Bovee, C.L., & Thill, J.V. (1999). Business today (9th ed.) [pp. 404-405]. Upper Saddle River, NJ: Prentice Hall.

87.
B
$1,250. Banks are often able to control variable expenses by making changes in the types of supplies they purchase. For example, it may be less expensive to buy plastic cups rather than paper cups to provide beverages to customers. To determine the savings in this situation, first calculate how many thousands there are in 5 million by dividing 5 million by 1,000 (5,000,000 ÷ 1,000 = 5,000). Then, multiply that number by the per thousand price for paper cups (5,000 x $3.75 = $18,750) and also by the per thousand price for plastic cups (5,000 x $3.50 = $17,500). Subtract the cost of plastic cups from the cost of paper cups to determine the amount of savings ($18,750 - $17,500 = $1,250).
SOURCE:
OP:029
SOURCE:
BizMove.com. (n.d.). How to reduce costs. Retrieved October 8, 2008, from http://www.bizmove.com/finance/m3k.htm

88.
A
Portrait and oval background. The genuine bill's portrait and oval art are lifelike and stand out sharply from the background. The bill's paper is more difficult to verify than the portrait/background. Serial numbers are in bold print on the bill. They should be different on each bill. Checking serial numbers is not effective when only one bill is involved. The date when the currency was printed is shown to the lower right of the portrait. Checking the date is not an effective way to identify counterfeits.
SOURCE:
OP:144
SOURCE:
American Bankers Association (2005). Today's teller: Developing basic skills (p. 104). Washington: Author.

89.
A
Build flexibility into his/her schedule. The manager's schedule should not be filled completely. The more people you work with, the more flexible you need to be. Blocking off six hours of uninterrupted work time would not be possible. Delegating some activities to others will free the manager to do other tasks, but not all activities could or should be delegated.
SOURCE:
PD:019
SOURCE:
OP LAP 1—About Time (Time Management in Business)

90.
A
Yes, this request can be included in a follow-up letter. If it seems appropriate, job applicants can ask at the end of the interview to be notified of the business's decision. If it does not seem appropriate at that time, it is appropriate to include the request in a follow-up letter thanking the interviewer for the interview. Some businesses routinely notify all applicants, but some do not. Asking for this feedback as the first question in the interview would not be appropriate.
SOURCE:
PD:029
SOURCE:
Bailey, L.J. (2003). Working: Career success for the 21st century (3rd ed.) [pp. 71-72]. Mason, OH: South-Western.

91.
B
Work at the company that is hiring. Many of the people in a network are professionals that the individual knows because of business or work-related activities. The advantage of including these people in a network is that they often work at the company that is hiring and can pass on information to others in the network. If the contacts are interested in the same position, they might not be willing to network and share information. The contacts may have information about job skills and know how to communicate with others, but those are not reasons why networking is so effective.
SOURCE:
PD:037
SOURCE:
Hodgetts, R.M. (2002). Modern human relations at work (8th ed.) [pp. 138, 140-141]. Mason, OH: South-Western.

92.
A
Accounting. Accounting is the process of keeping and interpreting financial records. In order to effectively manage its finances, or money, a business needs to maintain financial information. Without an effective accounting system, a business might not know how it is doing financially. Therefore, businesses rely on the accounting process to track their finances. Bookkeeping is the step in the accounting process that actually records the business's financial information. Banking involves completing transactions with a bank, such as making deposits. Investing involves putting funds into stocks, bonds, etc.
SOURCE:
PD:084
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (p. 535). New York: Glencoe/McGraw-Hill.

93.
A
Financial intermediary. The transfer of funds is one of the main functions of financial institutions. Transfers of capital can occur directly, through an investment banking house, or through a financial intermediary—such as a bank or mutual fund. In mathematical formulas, a variance is the square of the standard deviation. A portfolio is an individual's investment holdings. A valuation model is a way to determine the value of something.
SOURCE:
PD:085
SOURCE:
Brigham, E.F., Gapenski, L.C., & Ehrhardt, M.C. (1999). Financial management: Theory and practice (9th ed.) [pp. 118-119]. Fort Worth, TX: The Dryden Press.

94.
A
Determining when to buy. Retailers need to know how much time it will take to obtain new merchandise to avoid running out of goods. To do this, they first calculate the length of time it takes to process a purchase order and send it to a vendor. Then, they calculate the length of time it takes the vendor to deliver the order. By adding the times, retailers can determine when they need to buy to prevent running out of goods. For example, perhaps a retailer knows that it takes the buying department four days to process a purchase order and two days for the vendor to receive the order. Then, it takes the vendor seven days to deliver the order. By adding these times (4 + 2 + 7 = 13), the retailer knows that it needs to order at least 13 days before it expects to run out of merchandise. Vendors usually arrange transportation. Retailers do not calculate the length of time it takes to process a purchase and the length of time it takes for a vendor to deliver the order to plan merchandise or prepare to count inventory.
SOURCE:
PM:262
SOURCE:
Berman, B., & Evans, J.R. (2004). Retail management: A strategic approach (9th ed.) 
[pp. 356-357]. Upper Saddle River, NJ: Prentice Hall.

95.
A
Customer seems to be in a hurry. The service approach is a polite question that indicates the salesperson's willingness to be of service to the customer. This type of approach is effective when the customer seems to be in a hurry. In that situation, the salesperson is offering to help the customer now. The greeting or welcome approach is appropriate if the salesperson is busy with another customer, or if the salesperson is creating a friendly atmosphere. The merchandise approach is appropriate if the customer is examining a specific item.
SOURCE:
SE:110
SOURCE:
Greene, C. (2000). Selling: Business 2000 (pp. 139-140 ). Mason, OH: South-Western.

96.
A
Yes, but . . . . The yes, but . . . method allows the salesperson to acknowledge the objection tactfully without directly contradicting the customer. The toss-it-back method is used to turn the customer's objection into a valid reason for buying. The deny it method seeks simply to correct wrong information. The point-counterpoint method allows you to agree on a valid point made by a customer and then to answer by offering an equal or superior point.
SOURCE:
SE:874
SOURCE:
SE LAP 100—Converting Objections

97.
D
Real estate agent. Some clients are interested in investing in land so financial planners need to have the necessary information to help them make informed decisions. A good source of information is a real estate agent who specializes in the type of investment that clients want. For example, some agents specialize in commercial property while others specialize in the home market. These agents have current information about the value of land, if the market is growing or declining, and fair market value. A financial planner would not obtain information about land investments from a trust attorney, a general contractor, or a building inspector. 
SOURCE:
SE:194
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (pp. 351-361). New York: Glencoe/McGraw-Hill.

98.
C
Sell stored-value cards. Some financial institutions sell stored-value cards, which are similar to prepaid credit cards except that they are reloadable. For example, a customer planning a vacation might place $1,000 on a stored-value card. The card works the same as a credit card except that funds are deducted from a set balance. The advantage to the customer is that additional value may be added to the card. Selling stored-value cards is an auxiliary transaction because it is not the main focus of the financial institution. Most financial institutions operate ATM machines as a service to customers. Providing mortgage loans and handling direct deposits are the primary activities of many financial institutions. 
SOURCE:
SE:217
SOURCE:
Kapoor, J.R., Dlabay, L.R., Hughes, R.J., & Hoyt, W.B. (2005). Business and personal finance (p. 127). New York: Glencoe/McGraw-Hill.

99.
A
Planning. Planning includes deciding what will be done and how it will be accomplished. Managers begin the planning process by determining the goals and objectives they want the business to achieve. Organizing is setting up the way the business's work will be done. Staffing is finding workers for the business, and controlling is monitoring the quantities being produced as well as the efficiency of production.
SOURCE:
SM:001
SOURCE:
BA LAP 6—Manage This!

100.
C
Investors. A business plan is a set of procedures or strategies that outlines how a person plans to take an idea and turn it into an organized effort to produce and/or distribute goods and services. Some people who start businesses do not have enough money to start out, so they seek financial assistance through lenders (e.g., banks) or private investors. The investors usually want to see a detailed business plan before investing money into a venture. A business owner does not distribute his/her business plan to competitors, clients, or promoters to obtain financial support.
SOURCE:
SM:007
SOURCE:
Farese, L.S., Kimbrell, G., & Woloszyk, C.A. (2006). Marketing essentials (pp. 738-744). New York: Glencoe/McGraw-Hill.
